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L] L] - . .
(-e£1|) Gaurr («=1,) Feaar(y) (&) g;:];g,f,:;;r.p,h (rr) thenmaer

The endarch condition is the characteristic feature of

(@) Root (by  Stem (c) Leaves (d) Flowers

2. TEM eranug GamuQen e Li@hil uremenend @ibladlmay ?

(1) g5 2y (e=4,) eneul_iBlen

(rr) mnrCurenam Gl

(@) Gamupiiy Qummladr

TFM in soaps represents content in soap.,

(a) Mineral (b) Vilamin

(c)  Fatty matter (d) Carbohydrate

3.  Qung euru) wrdlellufen whny -

(<21) 3.81 ] Gumrér—! K-! (<=t,) 8.03 | Gomeh~! K1

(@) 1.38 ] Goma~! K~! (rr) 8.31] Guomey~! K-

The value of Universal Gas Constant :

(a) 3.81 ] mol T K-! (b) 8.03 ) mol- 1T K-1!

(c) 138 mol~1K~1 (d) 831 ) mol- T K-!

4. dlGar eurl wafl erenugy) eraenen i @ ?

(<) WlergenL erar (<,) BlensL_sz Smen

(8) flen 2ippe () Blér Hpen
Kilowatt hour is the unit of :
(a) resistivity (b)  conductivity

(c) electrical energy (d) electrical power
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DNA -ea @auld uwetu®n Aprd
(=2,) Qyevidlseven eremGLnflusaflGuay

() LGrmigCuay
(FF) RNA Gmrdlser

(@) DNA @maGsey

An enzyme which cuts DNA is
(b) Restriclion endonuclease

(a) [Protease
(d) RNAase

(c) DNA Ligase

pedFmsenerd Clamaimi (mé&s h.
(@) 3.0115x 102 (rF) 12.046x10%

em Cord eramug)
(«24) 6.023%102 (<) 6.023x10-2
molecules.

One mole of any substance contains
3.0115% 102 (d) 12.046x 103

(a) 6.023x103 b) 6.023x107%  (c)

senewenod syl erar @HUESLLUReug) g ?

() Geflwe sying (=) AL/ &spind

(@) esymi(p srind

Which one is referred as “Master gland” ?

(/) efemar &pldl

(a) Pineal gland (b) Pituitary pgland

(c) Thyroid gland (d})  Adrenal gland

srpm efl wsrpss Gerféems peLCupd srarmsaila uarysGarr@
Qam_iidanrsg g ?

(<=t) e&ET grrenoren warhssgaaama e pusdl aldeanen.

(<) @Oy wreng Quilugraayd, Aeusflu flysdsranBn @msE.

(@) weisdr o, wembd whmb Cser sréEGL saenvuieanyn AsramyBSEwD.
(7) warhssssasar dPlugnsaid e efbsansab EmaEL0.

Which among the following is not the characteristic of anemophilous plants ?

(a) the flowers produce enormous amount of pollen grains.

(b) the stigmas are large and protruding,.
(c) the flowers are brightly coloured, have smell and nectar.

(d)  pollen grains are small and dry.

[ Amiys / Tumn over
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Eipdaam_ecupmer lenaioth eTsenans STIHSE ?
(1) Qummeailcr erenL (e2y) Canmeflan iy (pOEFD
(8) Qurmefiér Henp () (e21) wpmid (<)

Inertia of a body depends on :

(a)  Weight of the object (b) Acceleration due to gravity of planet

(c)  Mass of the object (d) Both (a) and (b)

@rég @l s sflwrar auflens erg) ?

(1) Qeuam fsflar — glflub — Hleny - gwaf
(<) eriifliwb — Qevam’ Asdear — Sleny — swadl
(@) glflub - Qaarn Aséldar - gweall - Heanry
(rr) QeuamMadler — fleoy — glMwib — swafl
Which is the correct sequence of blood flow ?

(a) Ventricle = Atrium — Vein — Arteries

(b)  Atrium — Ventricle — Vein — Arteries

(¢c) Atrium — Ventricle — Arteries — Vein

(d) Ventricle —» Vein — Atrium — Arteries

emaumeuaraupmer ergl “gaflob + gaflobd — Caiow” wms o ?

(@) 20O +Os)— 200y, (FF) 4Feq+30,,,~2Fe,05

Which of the following is not an “element +element — compound” type reaction ?
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Slwia DDl /
ardfllud Quare, UDmCEML 2 meuneugshe, _ eremm @

(<) PULECHEB sy (<) HTREGHTOT

(@) &ri&CGanmgn () uGumnmr
Cancer of the epithelial cell is called as

(a) Leukaemia (b) Sarcoma
(c) Carcinoma (d) Lipoma

u@d - I/ PART - 11

giud = amaGuad gup efl e & @péE e wallsseyd. efern arem 22 -&(&

SL_LMULONS eflen_wallgseyb. 7x2=14

Note : Answer any seven questions, Question No. 22 is compulsory.

13.

14.

15.

16.

Gampm Ceuiu eflfley Gemab erémprea eremen ?

What is coefficient of apparent expansion ?

WBeraflenp ellersgsaiiedy Luavien 2 Garsn LwauBssuu@ing. e Wer
2 mé Qerpwrs sgamall LwauBSguSoma. e ?

Why is tungsten metal used in bulbs but not used as fuse wires ?

I ereLg) ranan ? S e(HeurGeuper FOAUTL LS 5(HS.

What is rust ? Give the equation for the formation of rust.

GenL erenmpmed eremmen ?
What is stage ?
[ Sins / Turn ovs
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7. @sCar g fue sey “@awusfar GuaCiossi aap Tar siapsaLBADS ?

Why is sinoatrial node called as pacemaker of heart 7

18. Yé&n gpanamullel Litamasdr Wreney ?

What are the parts of the hind brain ?

19. Qsr@sstiul Herar ugfé A, B, C wpmib D 2w LrshiGendr SHEN L LITETLD

SrEmaib.
Identify the parts A, B, C and D in the given figure.

20. Qsreevlrbd (fbumrd) erempred ereéar ? uTd 2 Husdwrens anriGuorarsearra

ereucurm WaEGUESsSLILGEDS ?

What is colostrum ? How is milk production hormonally regulated ?

21. Qi LmeoLmélev eTammre crerar ?

What is metastasis ?

22. g seoysaiien pH ALY 45 arafld, siger pOH wdlieus sramns.
If the pH of a solution is 4.5, find the value of its pOH.
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LAl - 11/ PART - 111

1{ @Oy < sTemeuCGuwigmib T(p E‘mﬁ}'{n{hg"@ﬂ,@ chlen_wefissab. ellern eram 32 -&(&
SlL_Lnmuione ﬁ‘mmL_LumﬂémmJ_Lh_ 7x4=28

L L I - =
Note : Answer any seven Huestions. Question No. 32 is compulsory.

23.  [fHlerawsden vaGaum eumssenar aRsmsaEn_DaEenen hlndss.

Explain the various types of inertia with examples,

————— e —

24. (=) Quipes wpmd Gawuhens sAfhwsssfar gGaab apam USETLS®ET GTISHIG.

(<) BlanGeanmiL gdeh Qoutiu eflemarenauls LweaLEHH Dswdudin @ran® Wen

grsamsaiiar Quwfleaens Fa [T
(a)  Write any three features of natural and artificial radioaclivity.

(b) Name any two devices, which are working on the heating effect of current.

25. (<) MgSO,.7H,0 e ulemer Gauluiu@bsnnCGurg) sranan RapfHmg ? Geuciamens-

GITET SLOSMIIMLLG ENET GT(LHF)S.
(<=,) serpdimen — auayumbsay.
(@) What happens when MpS0,.7H,0 is heated ? Write the appropriate equation.

(b)  Define : Solubility.

6. (B{) &UTS mey eTemmme) eTeuen ?

(=1,) @aflé CersmaullaGurgy @mer dleradE qpary aar gafl allenar pearGuim
Coueir(ib ?

(a)  What is Respiratory Quotient ?
(b)  Why should the light dependent reaction occur before light independent reaction during,

photosynthesis ?

[ Hmuns / Tumc
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27,

29.

30.

32.

pwellar ud eumiiium iy e ET(LDEI.
Write the dental formula of rabbit,

(=) & ITEU T i &ern LD ) M LD aglmrg,@g,gﬂgh Bgmmnq ;ﬂsﬂm FTESHLONSTHTE e &t

SMmSUUBEng ?
(<=4,) Bl orenser oeupbler enwiSen o LLenLulléy ereualmml cuenslIUBSEU-

UL (Dererar ?

Why is Euploidy considered to be advantageous to both plants and animals ?

(a)

(b) Classify Neurons based on its structure.

safllsEpb, Hars@sb Siewinda SiglumLuid eraarg GeaupuB&lanpen ?

How are Arteries and Veins structurally different from one another ?

aul Ly @er sraureiiuc eratugamal euaumSs, SIBat PEEWUSHaEDE T(DEIS.

Define Ethnobotany and write its importance.

(<=21) srflQenred ghuLSsmiqw allaera)sar wrenal ?

(<5,) DNA eflyed Grensg Qamfldr mugdlen peargpenn LwsLrRseard: sams.

What are the consequences of deforestation ?

()
(b)

State the applications of DNA finger printing technique.

(1) eTis snflend igflaflu e Cansgens Gawdur Hewds o LESsID ? g ?

(=) 1.51x 102 p@éemp eamiw NH,Cl -é1 Curdsala aarafsosmus

FasEl(H.
(a) Name the acid that renders Aluminium passive. Why ?
(b) Calculate the number of moles in 1.51x 102 molecules of NH,CI.
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L@l - 1V / PART - 1V

@Oy Siemengg aflenam@nd@n dla ualinanb Gpeaannen GLimaid uib

QUENTILIGYID,

Ix7=21

Note:  Answer all the questions, Draw diagrams wherever necessary.

33 (=) ()
(ii)
(iii)

(iv)

(<) ()
(i)
(iit)
(iv)
(@) (i)
(ii)
(iii)
(iv)

(b) (i)

@ellQeanflen Lwerser wraea ?
Bpinlflas - euenywigbsea)ib.

Gundeaundgs eams eflas@sar Slai HpsHd SienDSEULEeUSE HITTErTLD

arement 7
mamid manGaommadulen Baflpmearay eremen ?
ANV
arflQymed eremmréy eremen ?
erflQyredl Calugmaren Gran® Pupgsmanamars samns.
erflQyrelluflen oGS LWIENSEnaE samis.
erdlQymallenuiLy ums&rﬁ@,’sﬂ golllen flensCaussengs sneamns.
What are the uses of convex lens ?

Define dispersion of light.

Why are traffic signals red in colour ?

What is the least count of travelling microscope ?
OR

What is an echo ?

State two conditions necessary for hearing an echo.

What are the medical applications of echo ?

How can you calculate the speed of sound using echo ?

[ Hmuys / Tumn .
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&1, H, eumuésenar

3. (=)@ eCrQan DI(195S Flenaufd 3 @l. O 5 &fl. Cly topmitd ©

H@g@&; QJEITG&'HTL_fr,;iJ
; 7 T (HEEHID 7
(A} s oufls aramanflsaaudlamer (e T HEN T Q& e (HEE
Qaramg(mSED 7

(B) &g @eoopps erameanilbanaullae PSS FENETE

(i)  pelar ogmé Qardrensulen CarlunBisener eT(p5I%:

SV
gL ilgmar st ercucurmy Seny wralL@dsdlamen ?
@ sflos Corwib ‘A" eauga ppo&idaml amninur® CH,0,. Gg
LEULURGHsS 0 uwau®dmng. Cogid 6T & &ET TR 6T eflenamyflha)

(=) ()
(ii)
@aflu wanmuperLw Goiwb ‘B -enwd SmHEADS Gremle,

(A) Gsiob ‘A’ -~ews sarfls.

(B) Camwid '‘B" 2 (meurge cllenenufencn eT(pgs.

(C) @pflspaingl QuuflBsa.
(@) (i)  Under same conditions of temperature and pressure, if you collect 3 litre of O,,
5 litre of Cl, and 6 litre of H,,
(A) Which has the highest number of molecules ?

Which has the lowest number of molecules ?

(B)

Give the salient features of ‘Modern Atomic theory”.

OR

(1i)
'b) (i) How do detergents cause water pollution ?
(i)

An organic compound "A” is widely used as a preservative and has the molecular
formula G,H,O,. This compound reacts with ethanol to form a sweet smelling

compound ‘B’, then
(A) Identify the compound ‘A’

Write the chemical equation for its reaction with etha nol to form compound

JB’-

(B)
(C) Name this process.
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(i)

(<2p) ()
(ii)
(i)

(@) ()
(i)

(b) ()
(i)
(iif)
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Qawhens, DL GEallenmen erenueney wWrensy ? eTRESGFTLH BHHS.
HEGWD sreursdle o crer GossHldn Siennlienn LTGLD LHmID UL SFIET
eflend@s.
DIV6VS
“@RAL sl LTl shms” e Siempssuu@UaT W ?
2 Lsaliy whmpn Qauelssainy - Gaupu®sss.
auens 1 whpmb cues Il Ffley Cemisaar CaupuBs5s.

What are synthetic auxins ? Give an example.

With a neat labelled diagram, describe the parts of the typical angiospermic ovule.
OR

Who is called the “Father of Indian Green Revolution” ?

Differentiate between out-breeding and in-breeding.

Differentiate between Type-1 and Type-1I Diabetes mellitus.

-00o0-
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